
Math 367 Homework Assignment 2
SOLUTIONS

1.

(a) (i) yes, one-to-one (ii) no, not onto
(b) (i) no, not one-to-one (ii) yes, onto
(c) (i) no, not one-to-one (ii) no, not onto
(d) (i) yes, one-to-one (ii) yes, onto
(e) (i) no, not one-to-one (ii) no, not onto

2.
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3.

(f ◦ g)((x, y)) = f(g((x, y))) = f((3x,−y))

= (3x+ 1,−y − 2)

(g ◦ f)((x, y)) = g(f((x, y))) = g((x+ 1, y − 2))

= (3(x+ 1),−(y − 2)) = (3x+ 3,−y + 2)

4.
f(T ): center (2, 2), radius 1
g(T ): center (0, 0), radius 3
(f ◦ g)(T ): center (2, 2), radius 3


